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Words and music by Charles Aznavour and Herbert Kretzmer

SHE

Performed by Charles Aznavour

S m

Arranged by Steve Cortland

-
Flute 1,2
¢ nf [
Oboe
© = t
D ——
nf A . .
i NPY
Bassoon %‘
mf espressivo
P \ K, N
Eb Clarinet
© <
~— —_—
nf
" \ =
Bb Clarinet 1
© i
T —_—
" e ——
By Clarinet 2 = = =
& = = = =
nf p
94 \
B> Clarinet 3
i ~—_ | = = = = = = =
kd _ |r
P
E» Alto Clarinet
2 7 = = = =2 —e——v——
nf _—
94
B> Bass Clarinet
5i £ = = - E =
s mf e ]
M _ _ o = - - _ _ _ _
E> Alto 1 =—=—F% 3 e == Fr
S P t —
nf —_— |
gud \ _ _ PR L _ _ _ _ _ - -
E> Alto 2 = - . z—=—+
v nf ————
04
B> Tenor
o
mf espressivo
P ;
E> Baritone
G
P
04
Bb Trumpet/Cornet 1 |F
o
04
Bb Trumpet/Cornet 2 |F
o
04
B> Trumpet/Cornet 3 l@
o
"
FHorn1
©
04
F Horn 2 |
o
"
FHorn3

C Trombone 1

C Trombone 2

C Trombone 3

nf —_— /= T

& rep.r o
[ iton:
mf espressivo

C Bass =

e E E] T F El E3 E3 b Ed

L —
Timpani

L
Drums

S t
—_—
K Motor off
i &
2 3 4 sp
6
Copyright © 1974 Westminster Music Ltd.
Used by kind permission of Essex Music Benelux B.V., Hilversum-Holland.
Authorised edition 2009 : Bernaerts Music bvba, Music Publishers, Willebroek-Belgium, E.C. 2009.0614

Flute 1,2

Oboe

Bassoon

E» Clarinet

Bo Clarinet 1

Bp Clarinet 2

Bp Clarinet 3

E> Alto Clar.

Bp Bass Clar.

E> Alto Sax. 1

B> Trp./Crnt. 1

Bb> Trp./Crnt. 2

B> Trp./Crnt. 3

FHorn1

FHorn2

FHorn3

C Trombone 1

C Trombone 2

C Trombone 3

C Euph./Bar.

C Bass

Timpani

Drums

Glock.

Vib.

"

ol

al

al

ol

al

al

14

14l

[GS




Flute 1,2

Oboe

Bassoon

E» Clarinet

Bb Clarinet 1

B» Clarinet 2

Bb Clarinet 3

E> Alto Clar.

B> Bass Clar.

E> Alto Sax. 1

E> Alto Sax. 2

Bb Tenor Sax.

E> Bar. Sax

8 Trp./Crnt. 1

B> Trp./Crnt. 2

8 Trp./Crmt. 3

FHorn1

F Horn 2

FHorn3

C Trombone 1

C Trombone 2

C Trombone 3

C Euph./Bar.

C Bass

Timpani

Drums

Glock.

Vib.

o ¥ S SN E=E=EE S =
mf espressivo
%
G = == =] ===
nf espressivo
_—
B f
P \ —_— \ —_— \ —_—
v ~ @0 =
nf espressivo
04
G —— ——
nf espressivo
£ +
R 4 £ z S = = =
[ —
04
% ¥ @ + < - S — =
= = e
s
o = = <
~__
N/
04 \ N
= 2 3
s
e _ _ _ _ _ , _ _ o _
- nf '
P \ _ | _ >
== : :
_— nf
" \
<7 4 ~
£ ~_"~ o
P \ N
T 2 = ? = =
_— W
é "
Bi —— ===
mf espressivo
04
§ t = t
L
é "
14 —
L4
— < = =
S ¥ = = f F
_——
@r}» \
DR = = = =
_
4
v < z 7 2 £ =
—
;2 : : . 3 &
JEE— |
Play
[ )
nf
_— —r—— T S
= =
| | N
3 El Ed - = 3 2 = <= ¥
2 E : ¥
' nh
I
t —
g e o s s I —) [T 1) | T
= I —d I ' I — I ' I —d
L4
) _ I P
G ¥
k2
& s
12 13 14 15 1

Flute 1,2

Oboe

Bassoon

Eb Clarinet

Bp Clarinet 1

Bo Clarinet 2

Bb Clarinet 3

E» Alto Clar.

Bp Bass Clar.

E> Alto Sax. 1

B Trp./Crnt. 1

B Trp./Crnt. 2

B Trp./Crnt. 3

FHorn1

FHomn2

FHorn 3

C Trombone 1

C Trombone 2

C Trombone 3

C Euph./Bar.

C Bass

Timpani

Drums

Glock.

Vib.

) _— -
R == == Seme—== E===
9 =
o< = - s T o [
7
é»- = [ T——
3 S==Se =SS S==a = = == f

"
Gi # = =
N
44
5 ElE] i -
== —
—_— —_— e
L _ L P e e —
- . 4 = = T~
= =
= i —
v = =
~~_ @@~ ~~_ @@~ — 2T ~__ ~ ~—
L X n
L/
% & = = =
O _— T
D i B 11 i e =1l = t ¥
fe n n —
< ~__ £ = =
L
2 S ~~__ =
= Ty £z
o o . . Es AN e
/—\ \,/_\
e B o Ty e B £y Feo
E2 > CA €3 ERE] s R b i
+
Il | — ] | — — | — ] | —— | — ] I ] | — — O —— —
f f T i f T i 1 i f SSE i
)
€ = >— = == > — = —r— 7 S=SESS=
0
%




Flute 1,2

Oboe |

Bassoon

Eb Clarinet

B> Clarinet 1 [ &5

0y
B» Clarinet 2

©

94
B» Clarinet 3

o
E> Alto Clar.

o

04
B» Bass Clar.

N
E> Alto Sax. 1 |5
5

E> Alto Sax. 2

B> Tenor Sax.

)

S

%

E> Bar. Sax. %
i
fs

B> Trp./Crnt. 1

85 Trp./Crnt. 2

B> Trp./Cmt. 3

9
FHomn 1
o
04
F Horn 2 |5
o
0y
FHorn3

C Trombone 1

C Trombone 2

C Trombone 3

CEuph/Bar. [EE

C Bass
Timpani
<
—~ | ST T T T T T
Drums
7 f = = — = =
—_— _f
0
Glock.
=
Vib. t§
5
2 2 2 2

Flute 1,2

Oboe

Bassoon

Eb Clarinet

Bp Clarinet 1

Bo Clarinet 2

Bb Clarinet 3

E» Alto Clar.

Bp Bass Clar.

E> Alto Sax. 1

B Trp./Crnt. 1

B Trp./Crnt. 2

B Trp./Crnt. 3

FHorn1

FHomn2

FHorn 3

C Trombone 1

C Trombone 2

C Trombone 3

C Euph./Bar.

C Bass

Timpani

Drums

Glock.

Vib.

4 z sz shE T = S s e &
% : == = =
< ==
p = [ — \ —_— — 3 — —
= 2 z = ?
Dud = T, - 5 _hs T, — - = N
== e === : : == =
PPN = = 4 [~ —_— _
= S = > — = > - = =
) - ‘ ‘ — .
3 = = El El v &
= =3 < = 4 7= 2
. —_ |- - ‘ _ |- ‘
2 A = S A = = 2 iz = = = =
‘ |- _
=z = = z = 7
= . —— —_—— —F =
- = = = — = == = = —
fs Y > I I — =
O
fs L= > > _ - > > = L= = L >
& ] = ] : = i
Hu = = L = L _ L
o i = — = = =i = 4 =
0 s
o < 4 4 + £ 2 = G T e
5 fIr v ik E E s F o ¢ R
ey ~ |l - R I - o |- .
- ‘ - _
: = = 7
£ 2 s @ b2 & : F o - : s
‘ ‘ L —_— R
[ ER G E T 5 3% =
I T T ) T J ] ] I J ) I T g J g T ) | T 7 J ] T ]
f = — f — f — f — f = 1 == f ==
0 L —_— —_—
z — e [* e ——— =
-
4
&
26 27 28 29




